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== Original plot logistic
Original plot 95% confidence interval }
== == Original plot Gompertz model
@ Original plot data point
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Best fit A to hist data
Best fit D to hist data
=== Best fit E to hist data
=== Best fit F to hist data . 1 0
=== Best fit G to hist data
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® Full data set
== Equation in ref. [18]
=== Best fit A to full data

Best fit D to full data
=== Best fit E to full data
=== Best fit F to full data
=== Best fit G to full data

® Modified data set
=== Best fit A to modified data

Best fit D to modified data
=== Best fitE to modified data
=== Best fitF to modified data
=== Best fitG to modified data
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